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 Notes : 1. All questions are compulsory. 

 2. All questions carry equal marks. 

 

    

1.  Explain the characteristics of Industrial Society. 
 

OR 
 

Describe different causes of industrial conflict. 

 

16 

2.  Elaborate the problems of women and child labour in Industrial sector. 
 

OR 
 

Discuss impact of industrialization on the workers. 

 

16 

3.  Write short answers on any two of the following- 
 

a) Types of production system 
 

b) Resolution of conflict. 
 

c) Industry and environmental problems. 
 

d) Industry and stratification. 

 

16 

4.  Write short answer on any two of the following- 
 

a) Nature of industrial society. 
 

b) Conciliation. 
 

c) Causes of labour migration. 
 

d) Impact of industry on community. 

 

16 

5.  Write short notes on each of the following- 
 

a) Definition of industrial society. 
 

b) Collective bargaining. 
 

c) Participatory management. 
 

d) Automation. 

 

16 

  ************  
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 सुचना :- 1. सर्व प्रश्न सोडवर्णे आर्श्यक आहे. 
 2. सर्व प्रशनाांना समान गुण आहे. 

 

    

1.  औद्योगीक समाजाची र्ैशिष्टे स्पष्ट करा. 
 

क िं वा 
 

औद्योगीक संघर्ावच्या वर्वर्ध कारणांचे र्णवन करा. 
 

16 

2.  औद्योगीक क्षते्रातील स्त्रत्रया आणण बालश्रमीकाांच्या समरया सवर्रतर वर्शद करा. 
 

क िं वा 
 

औद्योगीकरणाचा कामगारार्र झालेला प्रभार् यार्र चचाव करा. 
 

16 

3.  खालीलपैकी  ोणत्याही दोन र्र थोडक्यात उत्तर ललहा. 
 

अ) उत्पादन व्यर्रथेचे प्रकार. 
 

ब) सांघर्ावचे ननर्ारण. 
 

क) उद्योग आणण पयावर्रणीय समरया. 
 

ड) उद्योग आणण रतरीकरण. 
 

16 

4.  खालीलपैकी  ोणत्याही दोन र्र थोडक्यात उत्तरे ललहा- 
 

अ) औद्योगगक समाजाचे रर्रूप. 
 

ब) तडजोड. 
 

क) कामगार रथांळातराची कारणे. 
 

ड) उद्योगाचा समूदायार्र होणारा प्रभार्. 
 

16 

5.  खालील सर्व प्रशनाांची थोडक्यात उत्तरे ललहा. 
 

अ) औद्योगीक समाजाची व्याख्या. 
 

ब) सामुददक सौदेबाजी. 
 

क) सहभागी व्यर्रथापन. 
 

ड) रर्यांचलीकरण. 
 

16 

  *************  
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 सुचनाएँ :- 1. सभी प्रशन अननर्ायव है। 
 2. सभी प्रशनों के अांक समान है। 

 

    

1.  औद्योगीक समाज की वर्शरे्तायें रपष्ट कीस्त्जये। 

अथवा 
 

औद्योगीक कलह के वर्भीन्न कारणों का र्णवन कीस्त्जयें। 
 

16 

2.  औद्योगीक क्षते्रो में मदहलायें एर्म ्बाल श्रमीकों की समरयाओां को वर्रतार से वर्शद कीस्त्जये। 
 

अथवा 
 

औद्योगीकरण के श्रमीको पर हुए प्रभार्ो की चचाव कीस्त्जये। 
 

16 

3.  ननम्नललणखत क न्ही दो पर सांक्षक्षप्त उत्तर ललखीये। 
 

अ) उत्पादन व्यर्रथा के प्रकार। 
 

ब) सांघर्व का ननर्ारण। 
 

क) उद्योग एर्ां पयावर्रणीय समरयायें। 
 

ड) उद्योग एर्ां रतरीकरण। 
 

16 

4.  ननम्नललणखत क न्ही दो पर सांक्षक्षप्त उत्तर ललखीयें। 
 

अ) औद्योगीक समाज की प्रकृती। 
 

ब) समेट । (तडजोड) । 
 

क) श्रमीक रथानान्तरण के कारण। 
 

ड) उद्योग का समूदाय पर प्रभार्। 
 

16 

5.  ननम्नललणखत प्रत्येक इकाईपर सांक्षक्षप्त उत्तर ललणखये। 
 

अ) औद्योगीक समाज की पररभार्ा। 
 

ब) सामुददक सौदेबाजी। 
 

क) सहभागी प्रबांधन। 
 

ड) रर्यम ् चलीकरण। 
 

16 

  *************  
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